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SECTION A ("‘SMARKS)

Answer AlLL qucsllons in this section

(Imk)
ain cultural aspects that were introduced by Homo ersctus. (2mks)
>cts of food shortages in the third world countries (2mks)

of ships that were used to transport slaves from west African coast to

north Ameuca guring the Trans-Atlantic trade (Imk)
State TWO ll%cs of canals ' (2mks)
Why were dnfgjn beats used at dawn and sunset to pass information? (Imk)

State WO xcm son why man abandoned stone tools and adopted metal tools (2mks)
Name ONE hidtorical feature built in Kilwa by sultan al-Hassan Suleiman [ (1mk)

State TWO differences between the golden stool and the black stool in the

Asante l(ingdc;m ‘ (2mks)
State TWO strategic factors that made the Europeans to scramble for

Alrican c;nn(infief it ) (2mks)
Wiio signed the Buganda Agreement of 1900 on behalf of the Kabaka? (Imk)

What was the 1
the Pan Afric&n

. State the inmgf
{4,
[s.

Name ONE w
Give TWO fi
State ONTL soc
What is the dl!f
Britain?

ame of the underground movement that was formed by the members of
Congress in South Africa after it was banned

(Imk)
liate cause of the Second World War (1mk)
mtry in East Africa that is not a member of COMESA (Tek)
ctions of the secretariat of the A frican Union (2mk)
al development in Tanzania since independence (lmk)

brence between the [House of Lords and the House of Commons in

(2mks)




18.

SECTION B (45MARKS)
Answer ANY THREF questions in this section ’

a) state FIVE similarities of the results of early agriculture in Egypt and n
America (USA)

- b) Explain FIVE changes that marked Agrarian Revolution in Britain

20.

21

22.

23.

. a) State THREE factors that led to scientific revolution in the whole world
b) Explain SIX challenges facing South Africa that are undermining her 1-

Industrialization

a) State THREL reasons why the Africans in Tanganyika were against tf
the Jumbes
b) Explain the Buganda Agreement of 1900 with the British

a) Give FIVE reasons why the League of Nations failed in its work
b) Explain FIVE, social results of the Second World War

) SECTION ¢ (JOMARKS)
Answer ANY T'WO questions in this section

a) State THREE symbols of royalty among the Buganda Kingdom during
colonial period :
b) Explain SIX factors that led to the growth of the Asante Kingdon

brthern
i (5mks)
(TOmls)

(3mks)

(12mks)
E:,?/\kidaﬂ and
(3mbks)

“(12mks)

(5mks)
(10mks)

lhe pre-
E (3mks)
(12mks)

a) State FIVE privileges enjoyed by the Africans who were assimiilated by;T glle French in

Senegal
b) Describe the British structure of administration in Notthern Nigeria durj
period

-a) State THREX, characteristics of Common Wealth member countries

b) Explain SIX challenges facing ECOWAS as an organization

(5mks)
ng the colonial
. (10mks)
: (mks)
(12mkas)




